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1.  Evaluate the limit, if it exists
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(A) 0 ;   (B) 4 ;   (C) 12 ;  (D) Does not exist.
2. Evaluate the limit
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3.  For what value of the constant c is the function f continuous on 
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4. Compute 
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Select the correct answer.

(A) 
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5. If a ball is thrown vertically upward with a velocity of 72 ft/s, then its height after
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Select the correct answer.
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6. Suppose that 
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Find 
[image: image30.wmf](

)

'

14 .

F


(A) 60 ;   (B) 140 ;   (C) 24 ;   (D) None of these.

7. Find the absolute maximum value of the function 
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 ;   (B) 1 ;    (C) 
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8.  How many points of inflection are on the graph of the function?
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   Select the correct answer.

   (A) 0 ;   (B) 1 ;   (C) 2 ;   (D) 3
9. Find the volume of the solid of revolution formed by rotating the region 
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10. Evaluate the definite integral 
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11. Find the area 
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12. Evaluate the definite integral 
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 using the fundamental theorem
of calculus.
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13. If 
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14. Let 
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(A)K<0 ;    (B) K>1 ;   (C) 0<K<1 ;   (D) K=1 
15. Evaluate 
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20. Determine which one series is divergent?
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